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Class Period:

Precalculus - Unit 1 Day 3

A
Right Triangle Trigonometry Fh G H TA

The six trigonometric functions of a right triangle, with an acute angle 8, are defined by

the_ FATIOS of two sides of the triangle.
The sides of the right triangle are:

e Theside ] the acute angle 6,
e Theside_adjacent to the acute angle 6,

e And the hslz PJO:]:e_n WUSE€ ofthe right triangle.
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The six trigonometric functions are:
0) i O
sine = —BB— cosine = _Q'_J‘i.]_ tangent = __E_P_
sSiN )’17/[90 cos hYPO +an adJ
gogecanes I YPO secant = _h\LE'_Q cotangent = odj
G OPP gee adj cot opp
RC Ci PI’O ca ‘ functions: another way to look at it:
sin@ = cosf = —— tanf = _,__._
cscO secE cot©
l
cscf= —— gerg = === ot = ————
SinG cos® )
Given two sides of a right triangle, you should be able to find the value of all six
trigonometric functions. 5 sinG= 55- SinXK= —é—
52+ (2%=c? 5inB = B CSC9=_|§3. csc9=7_’5- CSCC&‘—%
lbq =02 H cosH=3 Y
§ COSet= g
256 cos0=12 secH=1L
0 4
wsi & == tanoh= 3.
Yan®=2 cote=!2 - TS =g - Pl A= o
12 4 12 5 coto=2  cote=
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A. Solve for Missing Sides sin 35 =—E)(-"—
H c055l = — 2) b=_t_
3 156° \Q3em 13 b - St D
= O =
A 13cosb5b = o b= 10.H0b|
| a=7210
B. Solve for Missing Angles
4)A & 18mo
_ 3y 23m
© 39 :
29.332° p et 23
B _ 0= 34.224°

C. Applications

5. To secure a 500-meter radio tower against high winds, guy wires are attached to a
ring 5 meters from the top of the tower. The wires form a 15° angle with the tower.
Fm%the distance from the tower to the guy wire anchor in the ground.

Sm

) “I'O'ﬂl5=___ X =
ﬁé Y 132.35m
R - S < H3S +tan 15 =X

6. A trolley car track rises vertically 40 feet over a horizontal distance of 630 feet.
What is the angle of elevation of the track?

"{O‘Ef‘ We:&%% ©=23,633°

30 '
D. Find Remainin?kzﬁios

B sin@= 12 ] sSInB= 5’,—4 csel “]_S__

7. cscB—400 . L’c; o ﬂ.L 8 tanf =2, 'N— s
=.L § = NN vy 1

” L’g cos B =l q J77 H COS© 5 SecO= 5
ﬁ;/—] ton©= H0 cotb = P! | A
q A C} 15 7R e =
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